

Pay Estimate Created Date: November 2, 2022

Progress Estimate Nu 6			11119-H07 ace Construction C	ompany,			2022 Original Contract Amount 2022Net Change Order Amount Current Contract Amount	nt\$0.00
Approval Date								By User
November 2, 2022			at the Project Office Level by	stottt1				
November 2, 2022			Reviewed and Appr	oved (and	d should be considered Dra	ift) at the	e Resident Engineer Level by	stottt1
November 3, 2022				Reviewe	d and Approved at the Cen	tral Offic	e Controllers Office Level by	ramses1
Original Completion	n Date	Current Co	mpletion Date	Act	ual Completion Date	ç	% of Current Contract Amount	Complete
November 1, 202	22	Novemb	er 1, 2022				82.77%	
	Contract	Informational Dat	tes		Milestones			
Date Description	Original C	Completion Date	Current Completi	ion Date	No Milestones Exist for C	Contract		
Acceptance Date								
Awarded Date	December	1, 2021	December 1, 2021					
Letting Date	November	19, 2021	November 19, 202	!1				
Notice to Proceed Date	January 3	, 2022	January 3, 2022					
Open to Traffic Date								
Work Began Date								

Contract Total Pay For Estimate No. 6

		This Estimate	Previous	To Date
211119-H07				
	Total Posted Items Pay	\$1,399,223.05	\$1,398,348.96	\$2,797,572.01
	Gross Item Adjustments	\$70,210.24	\$430,352.30	\$500,562.54
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	-		\$1,828,701.26	\$3,298,134.55

Contract Total Payable This Estimate: Items Paid This Estimate Period

\$1,469,433.29

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9S3363	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$35,000.000	0.5	\$17,500.00
	0030	2159903	MISC.MODIFIED SHAPING SLOPES, CLASS III	LF	\$12.000	370	\$4,440.00
	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$18.000	48	\$864.00
	0050	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$53.000	740.05	\$39,222.65
	0070	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	TONS	\$59.000	12,666.15	\$747,302.85
	0080	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$60.000	5,785.24	\$347,114.40
	0090	4071005	TACK COAT	GAL	\$2.350	10,289	\$24,179.15
	0230	7261018	18 IN. PIPE GROUP A	LF	\$95.000	20	\$1,900.00
	0270	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$38.000	5,500	\$209,000.00
	0280	6061080	MGS END ANCHOR	EA	\$1,500.000	1	\$1,500.00
	0290	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,100.000	2	\$6,200.00
Project J9S3	363 - Total						\$1,399,223.05
Overall - Tot	al						\$1,399,223.05

Overall - Total

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3363	0050	GRAVEL (A) OR CRUSHED STONE (B)	Material			-740.05	\$53.00	(\$39,222.65)

Pay Estimate Created Date: November 2, 2022

Progre	ss Estiı 6	nate Number	Contract ID Prime Contrac	211119-H0 ctorPace Cons		Pay Period StartOctober 16, 2022 C pany, LLC Pay Period End November 1, 2022 N C	et Change O	rder Amount	
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
1953363	0050	GRAVEL (A)	OR CRUSHED STONE (B)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user stottt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	740.05	\$53.00	\$39,222.65
	0070		US PAVEMENT 9G64-22, (BP-2)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,256.28	\$2.95	\$6,666.86
	0070		US PAVEMENT 9G64-22, (BP-2)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,137.77	\$2.95	\$6,316.68
	0070		US PAVEMENT 9G64-22, (BP-2)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,236.02	\$2.95	\$6,606.99
	0070		US PAVEMENT 9G64-22, (BP-2)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,519.79	\$2.95	\$7,445.48
	0070		US PAVEMENT PG64-22, (BP-2)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,604.41	\$2.95	\$7,695.51
	0070		US PAVEMENT 9G64-22, (BP-2)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	911.88	\$2.95	\$2,694.42
	0070		US PAVEMENT 9G64-22, (BP-2)	Material			-4,521.76	\$59.00	(\$266,783.84
	0070		US PAVEMENT 2G64-22, (BP-2)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user stottt1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	4,521.76	\$59.00	\$266,783.84
	0070		US PAVEMENT 2G64-22, (BP-2)	Other Item Adjustment	Asphalt Cement Price Adjustment	Route T Mainline Asphalt Index			\$111,810.44
	0080	MIX	US PAVEMENT TURE PG64-22 .CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	881.04	\$2.95	\$2,603.30
	0080	MIX	US PAVEMENT TURE PG64-22 .CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,321.2	\$2.95	\$6,858.68
	0080	MIX	US PAVEMENT TURE PG64-22 .CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,583	\$2.95	\$7,632.25
	0080	MIX	US PAVEMENT TURE PG64-22 .CE LEVELING)	Material			-6,725.6	\$60.00	(\$403,536.00
	0080	MIX	US PAVEMENT TURE PG64-22 .CE LEVELING)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user stottt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	6,725.6	\$60.00	\$403,536.00
	0080	MIX	US PAVEMENT TURE PG64-22 .CE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	Route T Mainline in lieu of SL Asphalt Index			\$51,069.21
	0270		ARDRAIL, 8 FT. TS, 6 FT 3 IN. SPACING	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$141,906.25
	0280	MGS	END ANCHOR	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$950.00
	0290		RASHWORTHY MINAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$4,333.33
otal	,								\$70,210.24



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	ontract Project Information	1					
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work						
J9S3363	FAS S703(51)	Resurface	Т	VARIOUS	from Rte. 51 near Puxico f	to Rte. 60						
Totals by Job Numbers												
J9S3363		d Item Pay Item Adjustm		s Item Pay	This Estimate \$1,399,223.05 \$70,210.24 \$1,469,433.29	Previous \$1,398,348.96 \$430,352.30 \$1,828,701.26	To Date \$2,797,572.01 \$500,562.54 \$3,298,134.55					
	Liquid	tive centive dated Damage Contract Adju		5	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3363, Item 3105002, Project Item Line Number 0050, Material Set 310500296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Waiting on Modot Materials and Pace Construction to enter their test.	stottt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3363, Item 4011211, Project Item Line Number 0070, Material Set 401121196, Material 0401BPPMBP2 - Plant Mix for Bit Pavement BP-2, Acceptance Action Generic AspLow is insufficient.	Waiting on Modot Materials and Pace Construction to enter their test.	stottt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3363, Item 4020520, Project Item Line Number 0080, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Waiting on Modot Materials and Pace Construction to enter their test.	stottt1	Overridden
Estimate Exception Type: Item Overrun: Contract 211119-H07, Contract Project J9S3363, Project Item Line Number 0200, Contract Line Item Number 0200, Item 6224010, Minor Item.	Waiting on change order	stottt1	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)		
211119-H07	J9S3363	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.50	\$35,000.00	\$17,500.00		
		0001	0020	2129900	MISC.SHOULDER GRADING	1,162.00	0.00	1,162.00	100F	1,162.00	\$147.50	\$171,395.00		
		0001	0030	2159903	MISC.MODIFIED SHAPING SLOPES, CLASS III	7,570.00	0.00	7,570.00	LF	945.00	\$12.00	\$11,340.00		
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)									
		0001	0050	3105002	GRAVEL (A) OR CRUSHED STONE (B)									
		0001	0060	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)									
		0001	0070	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	19,834.10	0.00	19,834.10	TONS	19,521.76	\$59.00	\$1,151,783.84		
		0001	0080	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	6,725.60	0.00	6,725.60	TONS	6,725.60	\$60.00	\$403,536.00		
		0001	0090	4071005	TACK COAT	24,024.00	0.00	24,024.00	GAL	14,801.00	\$2.35	\$34,782.35		
		0001	0100	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00		
		0001	0110	6161005	CONSTRUCTION SIGNS	1,313.00	0.00	1,313.00	SQFT	962.85	\$6.50	\$6,258.52		
		0001	0120	6161025	CHANNELIZER (TRIM LINE)	200.00	0.00	200.00	EA	0.00	\$10.00	\$0.00		
		0001	0130	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$50.00	\$0.00		
		0001	0140	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	\$1,200.00	\$2,400.00							
		0001	0150	6181000	MOBILIZATION	\$216,926.22	\$0.00							
		0001	0160	6181020	ADDITIONAL MOBILIZATION FOR SEEDING									
		0001	0170	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	205,255.00	0.00	205,255.00	LF	0.00	\$0.12	\$0.00		
		0001	0180	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	120,764.00	0.00	120,764.00	LF	0.00	\$0.12	\$0.00		
		0001	0190	6223011	CONCRETE PLANING (BITUMINOUS OVERLAY)	4,763.00	0.00	4,763.00	SQYD	4,763.00	\$3.00	\$14,289.00		
		0001	0200	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,778.00	0.00	4,778.00	SQYD	5,169.00	\$6.00	\$31,014.00		
		0001	0210	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	615.80	0.00	615.80	STA	0.00	\$13.50	\$0.00		
		0001	0220	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$1.00	\$0.00		
		0001	0230	7261018	18 IN. PIPE GROUP A	20.00	0.00	20.00	LF	20.00	\$95.00	\$1,900.00		
		0001	0240	8051000A	SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	ACRE	0.00	\$11,750.00	\$0.00		
		0001	0250	8061017	TEMPORARY SEEDING	1.00	0.00	1.00	ACRE	0.00	\$7,700.00	\$0.00		
		0010	0260	6061060	MGS GUARDRAIL	\$18,700.00								
		0010	0270	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	\$209,000.00								
		0010	0280	6061080	MGS END ANCHOR	3.00	0.00	3.00	EA	2.00	\$1,500.00	\$3,000.00		
		0010	0290	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	5.00	0.00	5.00	EA	2.00	\$3,100.00	\$6,200.00		
	Project J	9S3363 - To	otal Value	Posted to D	Date as of Report Generated Date							\$2,824,672.00		
11119-H07 Ove	erall - Total	Value Pos	ted to Dat	te as of Repo	ort Generated Date							\$2,824,672.00		



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	10/26/22	11/1/22	0.25	LS	Across dam	7.574	Rt.	8.243	Rt.	
			10/28/22	11/1/22	0.25	LS	Old rail	11.492	Rt.	11.559	Rt.	
0030	2159903	MISC. SHAPING SLOPES	10/24/22	10/25/22	20.00	LF	Rt of Centerline on Route T	7.574				
			10/28/22	11/1/22	350.00	LF	Guardrail	11.492	Rt.	11.559	Rt.	
0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	10/29/22	10/30/22	48.00	TONS	Left Lane of Route T	19.437		12.504		
0050	3105002	GRAVEL (A) OR CRUSHED STONE (B)	10/29/22	10/30/22	740.05	TONS	Left Lane of Route T	19.437		12.504		
0070	4011211	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	10/21/22	10/25/22	42.53	TONS	Side Roads on Route T	17.161		14.502		
				10/25/22	2,095.24	TONS	Mainline on Route T	17.161		14.502		
			10/22/22	10/25/22	63.17	TONS	Side Roads on Route T	13.633		11.134		
				10/25/22	2,172.85	TONS	Mainline on Route T	13.633		11.134		
			10/24/22	10/25/22	2,256.28	TONS	Rt of Center line on Route T	14.434		11.698		
			10/26/22	10/30/22	124.64	TONS	Left Lain Mainline on Route T	11.537		8.587		
				10/30/22	2,395.15	TONS	Left Lane of Route T Mainline	11.537		8,587		
			10/27/22	10/30/22	149.36	TONS	Right Lane of Route T in Butler County	11.698		8.587		
				10/30/22	2,455.05	TONS	Right Lane of Route T in Butler County	11.698		8.587		
			10/28/22	10/30/22	911.88	TONS	Right /Left Lane of Route T in Butler County	8.2		7.5		
0080	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	10/28/22	10/30/22	420.67	TONS	Left Lane of Mainline on Route T in Butler County BP2 in Lieu of SL	7.550		6.568		
				10/30/22	460.37		Wedging BP2 in Lieu of SL	8.2		6.568		
			10/31/22			TONS	Left Bound Lane of Route T Side Roads	6.568		1.804		
				11/1/22	2,278.66	TONS	Mainline	6.568		1.804		
			11/1/22		-63.29		Waiting on Change Order	0.0		19.437		
				11/2/22	20.83	TONS	•	7.550		2.219		
0090	1071005	TACK COAT	40/04/00	11/2/22 10/25/22	2,625.46	TONS GAL	Mainline on Route T Right Lane Mainline and Side Roads on Route T	7.550		2.219 14.502		
0090	407 1005	TACK COAT	10/21/22		1,103.00	GAL	Mainline and Side Roads on Route T Mainline and Side Roads on Route T	17.161		14.502		
					1,103.00	GAL		13.633		11.134		
			10/24/22	10/25/22	1,324.00	GAL		11.537		8,587		
			10/26/22	10/30/22	1,226.00	GAL	Right Lane of Route T in Butler County	11.698		8.587		
			10/27/22	10/30/22	1,030.00	GAL		8.2		7.55		
			10/31/22	11/1/22	1,667.00	GAL	Left Bound Lane of Route T Mainline and Side Roads	6.568		1.804		
			11/1/22	11/2/22	1,717.00	GAL	Mainline/ Side Roads on Route T Right Lane	7.550		2.219		
0230	7261018	18 IN. PIPE GROUP A	10/19/22	10/19/22	20.00	LF	Eagle Point	7.574	Rt.			
0270	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	10/19/22	10/19/22	750.00	LF	Across Dam	7.600	Rt.	7.742	Rt.	
			10/20/22	10/21/22	600.00	LF	Across Dam	7.742	Rt.	7.856	Rt.	
			10/21/22	10/21/22	500.00	LF	Across dam	7.856	Rt.	7.951	Rt.	
			10/24/22	10/25/22	600.00	LF	Across dam	7.951	Rt.	8.064	Rt.	
			10/26/22	11/1/22	300.00	LF	Brings to actual quantity across on Rt.	7.574	Rt.	8.243	Rt.	
			10/27/22	11/1/22	1,500.00	LF	South side of dam	7.798	Lt.	8.082	Lt.	
			10/28/22	11/1/22	250.00	LF		11.492	Rt.	11.559	Rt.	
			11/1/22	11/1/22	1,000.00	LF	South side of dam	7.609	Lt.	7.798		
0280	6061080	MGS END ANCHOR	10/25/22	10/26/22	1.00	EA	Eagle Point	7.574	Rt.			
0290	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	10/28/22	11/1/22	2.00	EA		11.492	Rt.	11.559	Rt.	

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Nov 4, 2022

Contract ID:190215-D05

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
Project	Line	Description	Adjustment Type	Adjustment Type	Number	Date	By	Amount	Remarks
J9S3363	0040	GRAVEL (A) OR CRUSHED STONE (B)	Material		5	Oct 17, 2022	SYSTEM	\$3,054.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user barnfc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Oct 17, 2022	SYSTEM	(\$3,054.24)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0040 -	Total						\$0.00	
	0050	GRAVEL (A) OR CRUSHED STONE (B)	Material		6	Nov 2, 2022	SYSTEM	\$39,222.65	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user stottt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Nov 2, 2022	SYSTEM	(\$39,222.65)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0050 -	Total						\$0.00	
	0060	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	4	Oct 3, 2022	camdel1	\$15,235.03	Route T in Various Counties
		PG64-22 (BAS			5	Oct 17, 2022	barnfc1	\$92,930.09	barnfc1
						2022			See ACAdjustment Calculation
				ACAD - Tota	al			\$108,165.12	
			Other Item A	djustment - T	otal			\$108,165.12	
			Price FUEL		4	Oct 3, 2022	SYSTEM	\$9,626.16	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	Oct 17, 2022	SYSTEM	\$31,106.19	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$40,732.35	
			Price FUEL -	Total				\$40,732.35	
	0060 -	Total						\$148,897.47	
	0070	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	Material		6	Nov 2, 2022	SYSTEM	\$266,783.84	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user stottt1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Nov 2, 2022	SYSTEM	(\$266,783.84)	
				- Total		2022		\$0.00	
			Material - To					\$0.00	
				ACAD	5	0-147	h a m fa d		hamfad
			Other Item Adjustment	ACAD	5	Oct 17, 2022	barnfc1	\$69,687.28	barnfc1
									See ACAdjustment Calculation
				ACAD - Tota	6	Nov 2, 2022	stottt1	\$111,810.44	Route T Mainline Asphalt Index
			Othor Horn A	ACAD - Tota djustment - T				\$181,497.72	
			Price FUEL	ajustment - 1	5	Oct 17, 2022	SYSTEM	\$181,497.72 \$20,256.96	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Nov 2, 2022	SYSTEM	\$37,425.94	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$57,682.90	
			Price FUEL -	Total				\$57,682.90	
	0070 -	Total						\$239,180.62	
	0080	BITUMINOUS PAVEMENT MIXTURE	Material		5	Oct 17, 2022	SYSTEM	\$56,421.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user barnfc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		PG64-22 (SUR			5	Oct 17, 2022	SYSTEM	(\$56,421.60)	
					6	Nov 2, 2022	SYSTEM	\$403,536.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user stottt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Nov 2, 2022	SYSTEM	(\$403,536.00)	



Line Item Adjustments by Estimate

Nov 4, 2022

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3363	0080	BITUMINOUS	Material	- Total				\$0.00	
		PAVEMENT MIXTURE	Material - To	tal				\$0.00	
		PG64-22 (SUR	Other Item	ACAD	5	Oct 17,	barnfc1	\$9,558.76	barnfc1
			Adjustment			2022			See ACAdjustment Calculation
					6	Nov 2, 2022	stottt1	\$51,069.21	Route T Mainline in lieu of SL Asphalt Index
				ACAD - Tota	al			\$60,627.97	
			Other Item A	djustment - T	otal			\$60,627.97	
			Price FUEL		5	Oct 17, 2022	SYSTEM	\$2,778.58	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Nov 2, 2022	SYSTEM	\$17,094.23	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$19,872.81	
			Price FUEL -	Total				\$19,872.81	
	0080 -	Total						\$80,500.78	
	0200	MODIFIED COLDMILLING (DEPTH	Overrun	Overrun	5	Oct 17, 2022	SYSTEM	(\$2,346.00)	
		TRANSITIONS)		Overrun - T	otal			(\$2,346.00)	
			Overrun - To	tal				(\$2,346.00)	
	0200 -	Total						(\$2,346.00)	
	0260	MGS GUARDRAIL	Construction Stockpile STMI		2	Feb 16, 2022	SYSTEM	\$27,298.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$27,298.00	
			Construction	1 Stockpile S	MI - Total			\$27,298.00	
	0260 -	Total						\$27,298.00	
	0270	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile		6	Nov 2, 2022	SYSTEM	(\$141,906.25)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total					
				n Stockpile - 1	Total			(\$141,906.25)	
			Construction Stockpile STMI		1	Jan 18, 2022	SYSTEM	\$141,906.25	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$141,906.25	
			Construction	1 Stockpile S	MI - Total			\$141,906.25	
	0270 -				-			\$0.00	
	0280	MGS END ANCHOR	Construction Stockpile		6	Nov 2, 2022	SYSTEM	(\$950.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 1 1	- Total Stockpile - 1				(\$950.00) (\$950.00)	
				i Stockpile - I		lan 40	OVOTEM		Deserverst Entire de litere Adjuster est essented of Advelution Terror estice
			Construction Stockpile STMI	Tetel	1	Jan 18, 2022	SYSTEM	\$2,565.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 1 1	- Total				\$2,565.00	
	0000	T.4.1	Construction	n Stockpile S⊺	MI - Total			\$2,565.00	
	0280 -		0 1 1		0	N 0	OVOTEN	\$1,615.00	
	0290	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile	Total	6	Nov 2, 2022	SYSTEM	(\$4,333.33)	Payment Estimate Item Adjustment generated Stockpile Transaction
	(MASH)	Construction	- Total	Fetel			(\$4,333.33)		
		Construction Stockpile	1 Stockpile - 1	1	Jan 18, 2022	SYSTEM	(\$4,333.33) \$9,750.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$9,750.00	
			Construction	Stockpile S	[MI - Total			\$9,750.00	
	0290 -	Total						\$5,416.67	
J9S3363 ·								\$500,562.54	
Overall -								\$500,562.54	
everalit.								\$000,002.0 4	